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Attempt any Three :
1.  Discuss. Meaning, nature and scope of labour economics. 14
2. Discuss on labour policy in India. 14
3. Describe characteristics of labours of India. 14
4.  Discuss on second labour commission of India. 14
5. Make a note on wage policy of India. 14
6.  Discuss on criteria for wage determination. 14
7. Discuss. Nature and scope of collective bargaining. 14
8.  Make a note on workers participation in India. 14

9. MCQ: (Any Four)
(1) The economic reforms were intended to take the Indian economy into 3 specific

directions which are 2
(a) LPG (b) DPG
(c) LDG (d) DLP

(2) Globalization has lead to improvement in living condition . 2

(a) ofall the people

(b) people in the developed countries
(¢) workers in the developing countries
(d) None of the above
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(3) Statutory minimum wages is fixed under
(a) Payment of Wages Act, 1936
(b) Equal Remuneration Act, 1976
(c) Workmen’s Compensation Act, 1923
(d) Minimum Wages Act, 1948

(4) Which of the following is not usually an example of indirect participation by the
employees in participative management ?

(a) Worker — director
(b) A joint management council member
(¢) Collective bargaining

(d) Suggestion box scheme

(5) Globalisation of Indian economy means
(a) Stepping of external borrowings
(b) Establishing Indian business units abroad

(c) Having minimum possible restrictions on economic relations with other
countries.

(d) Giving up programmes of imports substitutions

(6) The measures of workers real wage is
(a) The change in his productivity over a given time
(b) His earning after deduction at source
(c) His daily earnings

(d) The purchasing power of his earnings

(7) Wages represents rates of pay.
(a) Hourly (b) Daily
(c) Weekly (d) Monthly

(8)  Which of the following is not a peculiarity of a labour market ?
(a) Labour market is normally local in nature.
(b) The numbers of buyers is less than numbers of sellers.
(c) Labour is less mobile.

(d) Worker can sell not only his own labour but also the labour of his fellow
workers.
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Attempt any Three :
1.  Give the meaning of econometrics and explain its nature and scope. 14
2. Write a note on BLUE. 14
3. What is heteroscedasticity ? Discuss in detail its problems. 14
4.  Discuss the Koyak approach to estimate lagged model. 14
5. Explain any one model of dummy variable. 14
6.  Explain the components of time series used for estimation in econometric model. 14

7.  Explain any least squares estimation method for estimating simultaneous equation

model. 14

8. What is identification ? Explain the necessary and sufficient conditions. 14
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Answer in short any four from the following :

What is non-linear equation ?

State the assumptions of regression model.
State the uses of regression.

What is estimation ?

State the uses of R2.

Write equation for partial adjustment model.
Write equation of distributed lag model.

How to solve the problem of Autocorrelation ?



